									Outcome: N8-1
“I Can”… find the square of a number and the positive square root of a number concretely, or pictorially and symbolically.
Example:   Square of 4=16	Square root of 4 = 2
Examples:
	Symbols
	

	Words
	

	Pictures
	


5 - Advanced understanding of the learning outcome
4 - Comprehensive understanding of the learning outcome
3 - Basic understanding of the learning outcome
2 - Incomplete understanding of the leaning outcome
1 - Does not understand the learning outcome
Self-Evaluation – I understand this outcome at a level of:
1	2	3	4	5
Test Mark: 		1	2	3	4	5
[bookmark: _GoBack]									Outcome: SS8-1
“I Can” … show how the Pythagorean Theorem works concretely, pictorially and symbolically. I can solve problems by using the Pythagorean Theorem.
	Symbols
	

	Words
	

	Pictures
	



5 - Advanced understanding of the learning outcome
4 - Comprehensive understanding of the learning outcome
3 - Basic understanding of the learning outcome
2 - Incomplete understanding of the leaning outcome
1 - Does not understand the learning outcome
Self-Evaluation – I understand this outcome at a level of:
1	2	3	4	5

Test Mark: 		1	2	3	4	5
